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For each of the following functions,

Ya)fx)=3z+1Y) fla)=22—z 0 f(z)= x2—9
d) f(z) =3 e) fle) =23 f) flz) =~

calculate the function values

) £(3) i f(5) i) f(=2) f(0) v) f(v/13)
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Let f be the piecewise defined function

f(a) = r—5 ,for =4<2<3
)l 22 L,for 3<x<6

a) State the domain of the function.
Find the function values

b) f(2) c) f(5) d) f(—3) e) f(3)
a) oomgin hos all tha poscible Tnpat:
= domin= 3 x| —4<X <3 ana 3EXL68
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Find the difference quotient w for the following functions:
a) f(z) = 5z Vb) f(z) =226 ¢ flz) =2
d) f(x) = 2% + 5z e) flx)=22-7 M) f(z)=22+3x+4
Jg) f(@) =22 +42—9 Vh) f(z) =322 — 2z 1) f(z) = 422 + 62
i) f(x) =222 -8x -3 k) f(z) = -522+3 ) f(z) =23
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o oh e xre

=2



(F) Foo= XPXTY

Plsy= e S E30xh) T4 oty o).
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Find the domains of the following functions.

Ja) f(&) = 2% + 3z + 5 b) f(z) = |z —2| Vo) flz) = VT =2

V) f(z) =v8—2x e) f(z) = v/Iz +3| ) f(z) = ;15
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x for3 <z
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h) 0= %@ As a frazkim, the duumergter connst e ger

which implies X OX*(‘(O £0 = (KD5)+0
)( >f—
DX—2%0 ond X540 = X Al X$5
= D=5x| xelf bt x+2 ,x$53



